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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER - I1I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which International conference and declaration is not associated with Climate Change and

Tourism ?
(1) Kyoto Protocol (2) Djerba Declaration
(3) Doha Declaration (4) Capetown Declaration

2. Some of the tourist attractions are given in List-I, whereas cities of their location in List-II.
Match these correctly :

List-1 List-I1

(Tourist Attractions Centres) (Cities)
(a) Don Bosco Museum (i) Gwalior
(b) Patwon Ki Haveli (i) Awurangabad
(c) Tansen Tomb (iii) Shillong
(d) Biwi Ka Magbara (iv) Jaisalmer
Code :

@@ (b) (9 (d)
O O ) @ G
@) ) @) @ @)
@) () @) @) 0
@ (v @) @) 0

3.  Which one of the combination of the following airline companies has ownership of the “World
span” as a Global Distribution System ?

(1) Delta Airlines-Northwest Airlines-American Airlines
(2) American Airlines-Air Canada-Lufthansa Airlines
(3) Northwest Airlines-Air France-British Airways

(4) Delta Airlines-Aerofloat-Cathay Pacific
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1. frefafed § § F9-91 Ry I0es Td =uon serarg, IReds Td 7deq 9 Hefd & § ?
(1) I Gkl (2) festai =wom
(3)  SrRIEn (4) RUSTS EHON

2. me@ww 19 U Tu €, Safeh 37 T % T8 G-I H fgu mu E 1 o= we

i1 -1
(e IMERHUT g ) (9TER)
(a) M dreR! FfSEH ()  TETferR
(b) Wl T gl (i) @
(c) TEA I Hha (iii) ferer
(d) e T HEHI (iv) SR

@@ (b) (o (d)

® @ (@v) @) (i)
(2) i) (@) @O @)
() @) () @) (@)
4) (v) (@) @) ()

3. fymifera # form TaRees Sufel % e & U afvas faao yonelt % 9§ gedei’ &1 @i
7?7

(1) <R TRABY-THIR TRARH-THRE TR

2) TERET TRAGE-TR FAE-qHReST TR
(3) el TIREEH-TR wiY-fafen wes
T TIRATEH-TAR-%9 J9fthes
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The term “Economies of Scale” refers to :
(1) afirm’s ability to reduce the cost of producing one unit of goods or services

(2) afirms’s ability to reduce the cost of producing one unit of goods or services when the
volume of production decreases or increases

(3) afirm’s ability to maximise the cost of production when more units of goods or services

(4) a firm’s ability to reduce the cost of producing one unit of goods or services as the
volume of production increases

Identify the correct code form on the basis of the statements mentioned below :
Assertion (A) : Incentive travel is a popular concept in the corporate sector.

Reason (R) : Incentive travel encourages employees to travel alone or with family.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true and (R) is false.

(4) (A) is false and (R) is true.

Assertion (A) : A group of British Tourists visits Rishikesh for a duration of fifteen days to
participate in a yoga and meditation camp organized by an Aashram.

Reason (R) : Their travel shall be considered to be influenced by a combination of cultural
and physical motivators.

Codes :
(1) (A) is correct, but (R) is wrong  (2) (A) is wrong and (R) is also wrong
(3)  (A) is wrong, but (R) is correct  (4) Both (A) and (R) are correct

The demand for travel to a particular destination is a function of :

(1) The person’s ability to travel and the level of attraction of the link between host and
guest destination areas

(2) The person’s propensity to travel and the reciprocity of the link between origin and
destination areas

(3) The person’s induced demand and the corresponding supply at the destination region

The person’s arousing of interest and suitable destination attributes
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8.  Find a correct combination of names of space tourist given in List-I with the year of visiting
the space given in List-II :
List-I List-1I
(Space tourist and Nationality) (Year of visiting space)
(a) Mark Shuttleworth, South African (i) 2006
(b) Anousheh Ansair, Iranian/ American (i) 2009
() Richard Garriott, American/British (iii) 2002
(d) Guy Laliberte’, Canadian (iv) 2008
Codes :
@@ (b) (o) (d)
@ @ G (@)
(2) @) (@) (@) @
() @) @ (@) (i)
4)  (@v) (@) @) @
9.  Which one of the following cities is the location of Headquarters of “Amadeus” ?
(1) Newyork (2) Madrid (3) Texas (4) Singapore
10. International Air Transport Association (IATA) membership consists of which of the
following ?
(1) National Tourism Organizations
(2) CEOs of Airlines
(3) Commercial wings of tourism departments
(4) Scheduled airlines
11. The term “Economies of Scope” refers to the ability to join resources and produce :
(I) One distinct product or service from the same company
(2) Two or more distinct products or services from the same company compared to
providing them from two different companies
(3) Two or more distinct products or services from two different companies
None of the above
psats IHIIHIHIII!||!H||H|“|\|H||H\H||\|HH|H ; —




8. ge-1¥ fo3 M sfaRer Jfri & wner Pei-11 # 37 g1 TaRet T 9 & & a9 & |y gafed
Eog

-1 Tet-11
( Sfafier AT T ITRT AT ) ( 3Fafker st ATAT HT T )
(a) T veaad, &0 STRIRT (i) 2006
(b) STRE TR, I/ SR i) 2009
() f=2 fifter, smist/fae (i) 2002
(d) T Afdse, HAEl (iv) 2008
&
(@ () (9 (d)
@ @ @) G ()
(2) @) (@) (@) ()
G) @) @) o (v) (i)
(4)  (v) () (D) ()

9. ‘‘origgm’ w1 qEAey frefated § @ few s # orafted ®7?

(1) (2) Hfgs (3) wEE (4) e

10. SRS 91 AR WS (TR CAT,) & 9ee ffafead § @ &F 82
(1) T v e
(2) TIARH & &I FEGN AR (H.38.27.)
(3) T fawmn =t et @he

) ST TEReEH

4

11. ‘'SHEMHES 1% Wh9'' Ig YA TS SIS i SIS S i &1 § Tefed § ¢
(1) SH S 9 T fafire Sane syen 9an
2) < = St ¥ YeH W *F gaT § 36 ke F S A At fafere Saare stean dar
(3) @ = uf @ o sifyes fafdre Seure steran dan
(4) STdw ¥ q w7
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12. Find a correct combination of name of the international hotel given in List-I with the location

of their headquarters given in List-II :

List-I List-II
(Name of the International Hotel) (Location of Headquarters)

(a) Intercontinental Hotels Group (i) Paris

(b)  Accor Hospitality (ii)  Brussels

() Rezidor Hotel Group (iii) London

(d) Home inns and motels management (iv) Shanghai

Codes :

@@ () (o (d)

1 @ @) 3§) (@iv)

(2) @) @ 3@ (@v)

() @ @v) @) @

4) (v) () @@ @

13. Assertion (A) : Shimla was introduced as a sanitorium in early 20" century. Due to pleasant
weather and natural beauty it got transformed into a summer resort in
pre-independent India and now the same is being visited as a winter resort
as well. Since the tourists have different motivational spectrum,
consequential activities and demands due to availability of varied products
in different seasons, this tourist destination is experiencing various stages
of multiple Destination Area Life Cycles in a year.

Reason (R) : Any given destination may have many use-patterns due to panorama of
touristic options that can be developed from the gamut of existing tourism
resources.

Based upon the above statements, find out the most befitting explanation from the

following :

(1) (A) is correct, but (R) is wrong  (2) Both (A) and (R) are contradictory

Both (A) and (R) are correct (4) (A) is wrongly cited, though (R) is correct
pots |H||H||\| LA : papeca




12. Ge-1H @ T SaU gledl o M o e Fer-11 H 3 T3 37 Gl o T &l gatad
Eag

-1 TE-11
( Siatisdta dreet & ) (qETerE % )
(a) TRTHICAeA Bead U () uf=
(b) THR Eifeefere] (i) 9™
(c) ISTER Freet 4 (i) A=
(d) THTH TS T TAeER (iv) S
Fe:
@ () (9 ()
® @ @ () (v)
(2 @) @ G ()
®) @) () (D) ()
@ Gv) () @) @)

13. ®AT (A): 20 o TS F IRY H e I SR Y H IE R w11 59 G gen
T WTRfTeh Hicd o HRU W 8 9 H 98 THer07T GYE § uRatdd gl T a1
3T g Tk ViaddE Sme % w9 H off omd €1 Hfw fa=-fae diemi A fafe=
SCUTGI 1 SHCTSHIT o WY G| ohi ST~ ST SATIUROTCHe Ty, fomdt Tfafaferi

TS 1 Al ¥, 39 T T 1 Y | Sk T &5 Sfed = (SEINYH T dE®
qrzfehat) & fafi= =ol &1 99 &1 W R |

HIUT (R) : FEt <0 weq Fg & 98 e Gt o fosmed 81 & SR 3He IUAnT Ted 8 §
o foemm Teden damem &= | fasfaa foan s whar 81

STF FUA & MR R F=fafed § @ w1 9 e gaifus geis § 2

1) (A) ¥ g g (R) Tom 1 2) (A) R (R) SHI TR foiet €
(3) (A) 3R (R) A1 5t (4) (A)TEd g, fohg (R) W& 2
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14. Find a correct matching between the name of country given in List-I with the type of crises
that affected tourism in List-II :

List-I List-II

(Name of country) (Type of crises affected tourism)
(a) Cuba (i) Avian flu
(b) Egypt (i) Foot-and-mouth disease cattle
() Thailand (iii) Earthquakes and Hurricanes
(d) Britain (iv) Luxor killings of tourists
Codes

@@ (b) (9 (d)
O O (v G G
@ ) (v 0 G
@) ) O @
@ @ ) O G

15. Match the form of tourism with the most appropriate location given below in List-I and
List-II, respectively :

List-I List-II
(Form of Tourism) (Location)
(a) Wellness Tourism (i) Solang Nallah (H.P.)
(b)  Spiritual Tourism (i) Kerala
(c) Adventure Tourism (i) Amarnath (J&K)
(d) Religious Tourism (iv) Varanasi (U.P.)
Codes :
@ b © @
M @ @ 6 G
@ G @) (@
@) Gi) () @) 0
@ (v G 0 G
T ’




14. -1 H T3 73 39 & W o WA G-I H &1 THe ol GHIA LA o1l Hehe o TR hl AT

Eag
-1 -1

(2T T AT ) (Tde T guIfad &I 9Tt Wehe o UhT)
(a) A () e v
(b) fow (i) ORI R B ATl YR (FE TUS HISY SifTs) U
(0 ¥R (iif)  FTT T THA
d) faea (iv) THeHl I THER HifT
FE :

@@ (b) (o) (d)
1 @ (v) () (i)
(2) () (v) @ (i)
G) (v) @ @) ()
4) (@) (v) (@) (i)

15. -1 a0 Geit-11 9 o9 T & ThR 1 Gaiiaen SUgeR M & 9o gafad a1

-1 TEi-11

(T % THK) (¥m )
(a) oEH T (i) el e (feure gew)
(b) sTeATfCTeR e (i) A
(c) fEd wded (iti) STHEATY (STH-HTHR)
(d) enfife wfes (iv) Ol (ST YeI)
FHE

@@ (b) (o) (d)
1 @ Gv) @ ()
2 @ (@) G (i)
(3) @) @) @) @
) (i)
Il n

iv 1
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16. One of the following is not the typology of tourists classified by Cohen in 1972 :
(1) Homebodies (2) Organized mass tourists
(3) Individual mass tourists (4) Drifters
17. The first passenger ship that took the passengers from the Great Britain to the United States
in the year 1838 was :
(1) Sirus (2) Titanic (3) Great Western (4) Victoria
18. The process of denying boarding to airline passengers with confirmed reservations due to
overbooking or overselling of flight is termed as :
(1) Cancellation (2) Bumped
(3) Deferred booking (4) Denial
19. Match the carriers mentioned in List-I, with their effective hub cities, as given in List-II :
List-I List-II
(a) American Airlines (i) Houston, Denver, Newark
(b) Delta Airlines (i) Chicago, Denver, San Francisco
(c) Continental Airlines (iii) San Juan, Nashville, Miami
(d) United Airlines (iv) Atlanta, Los Angeles, Cincinnati
Codes
@@ (b) (o) (d)
W) (W) @ O
@) ) @) @ )
@) O @) @ @)
@ @ @ O G
20. Which airlines introduced commission cap and put a ceiling on payments to travel agents for
domestic tickets in the year 1996 ?
(1) Delta Airlines (2) British Airways
Lufthansa Airways (4) Swiss Airlines
psots ||\||H|H|||H||!|HIHIHHI\IHH\I!I\HHII 3 Fapert




16. fr=rifRa B 1 1972 H FigA # afihd Tl & TR B T & 2
(1) EHEES
(2) Hufed S Wi (SriAEse 7™ ZREd)
(@) =fe A e (sfefogera o i)
4) fowd
17. 9¥W I Ser forad 9w 1838 # A6 Ie foed o e WA STHRERT TN, IR 9H o
(1) wr=R™ (2) <EH () T A (4) faseiten
18. SR kT (TeR Ffeh) stean st fosht (fiar dfan) & wror gihfved e ae TaRers i
1 formm # Hem T B4 <A 1 qfsHA hl He S @
(1) S HO (Haemm) 2) wHE
(3) <wE g 4) fema
19. -1 ¥ Sfeafed foama ot =61 geit-1 # I e 37+ arafas g (29) - & Y gAfad
Cagn
-1 TEit-11
(a) R TERAEY (i) T, SAN, =JATh
(b) ST TRABH (i) TorRmm, SR, 9 wifaent
(c) HIfeied TIRARH (iii) I A, Sorfera, framd
d) IS TRATH (iv) TedT=], O™ Teied, Faafaemet
<<
(@ (b) (o) (d)
1 @) @) @ (@)
(2) (@) @Gv) @ ()
G) @ (@) G ()
4) @) (v) (@ (i)
20. TH9 foume #ut (TEREE) 7 99 1996 § FHHIYE &I HH HT YEA S a1 dad Tsiel & T
A Hael Ioaad w1 ol Hgiia foan?
(1) <o TRARH @) fafen s
(3)  TTHIEIST WIS (4) T TRar
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21. In which year the first scheduled railway service was inaugurated in Europe ?
(1) 1820 (2) 1825 (3) 1830 (4) 1835
22. International Union of Official Travel Organisation (IUOTO) established in 1947 was
transformed into an intergovernmental technical body on 2, January 1975, as :
(1) UNDP (2) UNWTO (3) TERN (4) NTA
23.  Which one of the airlines is the first carrier to accept online bookings and take payment
through a website on the internet ?
(1) Delta Airlines (2) American Airlines
(3) Alaska Airlines (4) Singapore Airlines
24. IATA divides the world into three areas on the basis of Fare Construction. They are commonly
known as Traffic Conference (TC) area 1, 2 and 3. The TC-1 comprises :
(1) Europe, Africa and Islands adjacent there to
(2) North and South America and Islands adjacent there to
(3) Asia and Islands adjacent there to
(4) Islands of pacific ocean except those included in TC-1
25. A round trip that allows the passenger to utilize different points of origin or departure is
called :
(1) Round Trip (2) Circle Trip (3) Open -Jaw (4) Multiple Trip
26. Which one of the following monetary control mechanisms is applied in an inflationary situation
in a mass tourism destination ?
(1) Increasing the rate of interest in lending to investors
(2) Decreasing the rate of interest in savings
(3) Printing more currency notes for circulation
(4) Reducing the surplus of disposable income
27. National Tourism Award of 2013-14 has been awarded to :
(1) Chatrapati Shivaji Airport, Bombay
(2) Rajiv Gandhi International Airport, Shamshabad
(3)  Biju Patnaik International Airport, Bhuvaneshwar
(4) Indira Gandhi International Airport, Delhi
osss | INNRCARNAND 1 Faper
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26.

27.

9 H forg o gerd STgfed Yot Hefl i IR fehan e ?
(1) 1820 (2) 1825 (3) 1830 (4) 1835

1947 H ¥fYq geeHa T ATh SRR gaa ARAEseE (31768, 37.8.87) &l 2 STa,

1975 H ®UaRd Y AR deohiish! & | 9ga fean an, fodeh 1 § ¢

(1) I TS (2) IJTATEGLS (3) AR (4) TIAT

HH H TR TH gl fonmd wut § R siemsd gfe i WieR fR gon $ee |
SeETEe o HILAH 9 e foren ?

(1) ST TRAEE 2) oRfET TR

(3) STl TIXElE (4) TR THREEw

M., fava =1 fhymn ST & SR W i &5 o faufsia &t 81 3% o9 dR W s
FHHE ()1, 2R3 F &9 H I S ¥ A H-1H e ©

(1) 9, ST TAT 3Tk FHIAd! 5T

(2) 30 SR ferlt sTERER qen 37k FHvedt g

(3) TN qen TEk wHTIEd! g

(4) HUIG HEM@ER % g9 fod ddh-1 % grg wfher & @

& USe fou e anf &1 a1 IRY & (STRREH) stgan geae (feurR) & fafw= fagsti =1
STIN & FT STIAM S S ¢, FEA §
1) s feu 2) He&a feg (3) SfuE-=i (4) Hfeeae fea

qrfes A T<ea H whifaer) aRfeafd § fre=fafea 9 9 fog difgs o 93 1 3w fen
ST @ ?

(1) Traersl =1 01 fod S 1 =4S SR

(2) w=d H A T EH]

(3) g1 o qREred 7q Ay e B1a

(4) TE HT AT A HI AR TR S AT

frefafea # 9 f6d 2013-14 1 T T R yeH fhar = g2
(1) SFAufd Rrersi fammaH, i

(2) TSia e s foAmaTH, T
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(4) e M SR fammu, foee
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28. Which one of the travel behaviour is not related to the “Drifter” ?
(1) Temporary in nature (2) Lifestyle of local community
(3)  Fixed travel itinerary (4) Novelty and authentic
29. Match List-I (Man Made Attractions) with List-II (Relevant Examples) and choose correct
pairs from the codes given below :
List-I List-II
(Man Made Attractions) (Relevent Examples)
(a) Hermitage (i) CMC, Tamil Nadu
(b) Mausoleum (i) Thenamalai, Kerala
() Sanatorium (iii) Muinuddin Chishti, Rajasthan
(d) Music fountian and sculptural garden (iv) Sabarmati Ashram, Gujarat
Codes :
(@ (b)) (9 (d)
O ) @ 0 G
@ (v @) 0 G
@) ) @ O @)
@ (@) @ O
30. Match List-I (Ramsar sites) with List-II (Countries) and choose correct pairs from the codes
given below :
List-1 List-1I
(Ramsar sites) (Countries)
(a) Chotte Ech Chergui (i) Pakistan
(b) Bahia de cadiz (i) Egypt
(c) Lake Bardwil (iii) Spain
(d) Jiwani coastal wetlands (iv) Algeria
Codes :
(@ (b) (o) (d)
O O G (v G
@ (v @) @ 0
@) () @) @) 0
@ O @ )
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28. Tremfafed § @ SF-91 9w SFaeR qHake’ § Hafyd TE@ € 2
(1) TRt @aE (2) A GHSE i Sia-Selt
(3) @ = A faerm (4) QT SR YR
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-1 -1
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(d) HildH ®eW TS qfdeell 3T (iv)  STeHd! STH, TSR

@ b © @
iv) () @ (i)

)

) (i) (0)
) (D) () @)
) (i) (@)

i

~—"

(ii
(iv)
i

v)

30. G-I (TSR @) gei-11 () & 91 gafera o< e = U T w2 § ¥ g a1 99
Eg

i1 -1
(TTHER et ) (Qwr)
(@) Blg 39 =R () HIfR&™
(b) e fe Hfez @) e
(c) o aefad (iii) €4
(d) e wRea decded (iv) TSI
<
@ () () (d
@O @ @) (Gv) (i)

(=

)
(2) (v) (@) @) @)
) () (D) @v) ()
iv) (i)

4 @O G
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31. A tour guide is expected to know about the history of monuments, architectural significance
and thereby the terms applied in the buildings. From the following, point out the incorrect
term used for a part of building or buildings :

(1) Bulghur khana (i)  Free kitchen for the needy

(2) Baoli (i) A deep step well

(3)  Chehil Sutun (iii) A 40 pillared hall, A Public Audience Hall
(4) Jharokha (iv) Workshop

32. Pearson correlation coefficient is a statistical tool that measures the strength of :
(1) A bivariate relationships between three variables
(2) A linear relationship between two variables in the same order
(3) A linear relationship between two metric values
(4) A non-linear relationship between three non metric values

33. Which one of the following is not sustainable tourism indicator ?

(1) Site Protection (2) Waste Management
(3) Development Expansion (4) Local Satisfaction
34. Name the equipment that is used for cleaning TV :
(1) Sqeeze (2) Wiper
(3) Feather broom (4) Yard broom
35. Name the chemical that is used for carpet spotting :
(1) R-1 (2) TR-101 (3) TR-103 4) R-3

36. Name the Linen that is used for bed making :

(1) T-brush (2) Bed sheets (3) Duster (4)  Soft sheets

37. What is the size of face towel ?

(1) 30x30 cm (2) 10x10 cm (3) 20x20 cm (4) 15x15 cm
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31. T TS § IR FI W § o 9% TG & 3foe™, IRgiIedE 7ed a9 Hel & o) § T S
(=d) & 9N H @R W (TifRd ¥ 9aq & fRHl T AW S19a 9od & 9 H Y Teld e
(24) 9are :

(1) SR @Ml () EHe % fau g W

(2) dEet (i) TR WU e F

(@) =fea gad (ili) 40 T AT HH, WESHE FAATE B
4) wEn (iv) hTeeme

32. ToRHT GeHaY % Tk HIeAhd SUH B S (efarad § 9 fores! & &1 qedih &l ¢ ?
(1) @ = % 9 T fger gy
2) THEHH % H T = & ofd Tk @F Gaiy
() @ Hifew qedi & o= T W Gay
)

(4) o IR Hifew el & 9 TH SREE Fay

33. fr=fafgd § @ &M 9dd Tdeq Hohas el 2 2
(1) & gean (2) U geEE
(3) foshra fowr (4) T HA

34, <ciifasH (A1) W% w1 & fau forg sysor 1 39 foman smar & 2
1) TS (2) @MW (3) WIS SH (4) € FH

35. 39 A H1 AW IaEy et SUEnT wRuS Wit & fay feen s ©
1) 3¥m-1 (2) @ FR-101 (3) ¥ M-103 (4) 93

36. U@T 0AR H & foAu fHE foma =1 s T s &2
1) s (2) X (S vieH)
(3) B¥X (4) T =Y (AR wed)

37. =Y US4 91 difay (Y 2fae) 1 TR BT
(1) 30x30 WM (2) 10x10 WM (3) 20x20 HIHRT (4) 15x 15 HIHRX
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38. Identify “back of the house” area in a hotel :
(1) Front office (2) Linen Room (3) Restaurants (4) Bar
39. In most full-service hotels, the Rooms Division Department is known for a “Revenue
Centre “ for one of the following reasons :
(1) Profit and loss are directly related
(2) Revenues and costs are directly related
(3) Fixed and variable costs are directly related
(4) Sales and revenue are directly related
40. Find a correct matching between the Nature of Jobs given in List-I and technical jargons
given in List-II :
List-I List-II
(Nature of Jobs) (Technical Terminology)
(a) Glass cleaning (i) TR-101
(b) Carpet shampooing (i) Taski R-7
(c)  Floor scrubbing (iii) Taski R-3
(d) W.C. Cleaner (iv) Taski R-6
Codes :
@@ (b)) (o (d)
1 @ @) 3§ (@iv)
(2) @) @ G ()
() @ @) @ )
@4 Gv) @) @ ()
41. Which of the following equations is considered while determining the room rent in a hotel ?
Estimated cost of Operation
(1) Total number of available rooms
Estimated Cost of Operation +Expected fair return on Investment
(2) Total number of available rooms that can be let out
Expected Fair return on investment
(3)  Total number of available rooms that can be let out
(4) None of these
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39.

40.

41.
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(b)  Tde AFGET (i) TSI HAR-7
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<

@@ () (9 (d)
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4 Gv) @) @ ()
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42. Find out the right explanation List-II for the terms List-I :

List-1 List-1I
(Terms) (Explanation)
(a) Pension (i)  The standard quoted price for one night’s lodging
(b) Folio (i) A small inn or boarding house similar to a bed and breakfast
(c) Per diem (iii) Record of an individual guest’s charges
(d) Rack rate (iv) Maximum travel expense amount that will be reimbursed on a
per day basis
Codes
@@ () (o (d)
M) ) @ @) 0
@ (v) @) @ @
@) G @) @)
@ @ @ @v) ()

43. Assertion (A) : A hypothesis test procedure, that utilizes the “Z” distribution, is used when
the sample size is larger than 30 and the standard deviation is unknown.

Reason (R) : The “Z” test is used when the mean values of population are not normally
distributed.

In the context of two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

44. Spearman rank order correlation coefficient is used when two variables are measured by

using :
(1) Nominal Scale (2) Interval Scale
(3) Ratio Scale (4) Ordinal Scale
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42. GeH-1H! 71 & GAR-11 H T T T § gafad 1<

-1 -1
(W) ( FEETRTOT)
(@) UIA (i) T UM 3 & foIT A+ 33Yd g
(b) Ifer (i) TH d€ qA FRERS & THAM TH Blel 37 AL AT T=_A
(c) wfqun (it) Yh Afafy & IR 1 e
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1) @) (@) o Gv) ()
(2)  (v) (@) @) ()
G) G () (@v) ()
@) @ () @v) (i)
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3) (A)®E & foq (R) Terd B

(4)  (A) e B, fohg (R) &1 €1

2

4

44, TIREA S Y Gegsd Ul &1 TN 76 fomaT ST € 576 <1 =_i i Frefafed o 9 o & gra

ST ?
(1) Hrekfden ATIHRA (2) ST HI9HH
(3)  STUId HIUshH (4) ShHYTch HIYHH
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45. Assertion (A) : A scale that allows a respondent to express relative magnitude between the
answers to a question.
Reason (R) : The researcher can rank-order the new responses into a hierarchial pattern.
In the context of two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
46. Match List-I with List-II and select the correct answer using the codes given below in the
lists :
List-1 List-1I
(a) Standard deviation (i) The middle value of a rank-ordered distribution
(b) Variance (i) The most common value in the set of responses to a
question
(c) Mode (iii) The average distance of the distribution values from the
mean
(d) Median (iv) The average squared of deviation about the mean of a
distribution of values
Codes :
(@ () (9 (d
O O @) @ @)
@ ) ) @ 0
@) () @) O )
@ (v @) @) 0
47. Which one of the following is the correct pattern of setting interval scale type of questions ?
(1) More than 20 times, 11 to 15 times, 16 to 20 times, 6 to 10 times
(2) Married-single-single, never, widowed
(3) Inside the bank, Bank by mail, Bank by telephone, 24-hour ATM
(4) Hinduism, Islamism, Christianism, Buddhism
48. A retailer being temporarily out of a particular brand is called :
(1) Whiteouts (2) Blackouts (3) Stockouts (4) Shortage
o-ssts [N 2 paper
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49. The Balance-of-Payments is calculated with one of the following formulas :
(1) Y= C+1+(X—-M) 2) G=C+1+Y+(X-M)
@) Y=C+1+G+(X-M) 4) G=1+C+(X-M)
50. Which of the following ratios measures the relative contribution of financing of owners and
outsiders ?
(1) Leverage Ratio (2) Liquidity Ratio (3) Activity Ratio (4) Profitability Ratio
51. Given:
(a) Proprietary Ratio : 0:75 (b) Current Ratio 201
(c) Proprietary Fund: ¥ 60,000 (d) Fixed Assets : < 50,000
The working capital is equal to :
(1) < 15,000 (2) ¥ 20,000 (3) ¥ 25,000 (4) 30,000
52. A shopping style that puts particular emphasis on certain activities or shopping motivations
is called a
(1) shopping segment (2) shopping typology
(3) shopping orientation (4) shopping perspective
53. Which of the following is not correct ?
. Annual Cash Inflow
(1)  Payback Reciprocal : ~ 7 oo o
) Fixed Cost
(2) Break Even Point : P/V Ratio
3 Profitabilitv Index - Present Value of Cash Inflow
(3)  Profitability Index: Present Value of Cash Outflow
Average Annual Profit
(4)  Average Rate of Return : o7 vestment in the Project
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54. Assertion (A) : MBO is an effective way of planning and organising the work in a tourism
enterprise.
Reason (R) : Subordinates participate in setting the objectives.
In the context of above statements which one of the following is correct ?
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3)  (A) is correct, but (R) is incorrect.
(4) Both (A) and (R) are incorrect.
55. Which of the following is a cheaper source of finance ?
(1) Equity (2) Debt
(3) Retained Earnings (4) None of the above
56. Attending grand opening cermonies is an example of as per Henry Mintzberg.
(1) Monitory Role (2) Figurehead Role
(3) Liason Role (4) Disseminator Role
57. Match the theories of capital structure in List-I with their explanation in List-II, using the
codes given below the lists :
List-1 List-1I
(a) Net Income Approach (i)  Overall cost of capital decreases by increasing
the proportion of debt
(b) Net Operating Income Approach (ii) Change in the capital structure of a company
does not affect the market value of the firm
() Traditional Approach (iii) Cost of capital is not affected by the changes
in the capital structure
(d) M and M Hypothesis (iv) Cost of capital can be decreased by using more
debt
Codes :
@ () () (d
®H @ @) 3§D ()
@ @ (@) @v) (i)
G) @) @@ @) (v
“4) @ (v) @) (i)
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58. With respect to Modiglani and Miller (M and M) approach which of the following statements
is not correct ?
(1) There are no corporate taxes (2) There exists a perfect market
(3) Investors act irrationally (4) All earnings are distributed to shareholders
59. Consider the following statements.
(a) Both delegation and decentralisation are desirable.
(b)  Decentralisation is not suitable for large organisation.
(c) Delegation frees the delegator of the responsibility.
(d) Responsibility of the delegatee can not be more than the authority delegated.
Which of the above statements are correct ?
1) @and(®) (2 (Gand@©  (B) ©and(d)  (4) (a)and (d)
60. The retail attraction model is also called the
(1) retail gravitation model
(2) retail dispersion model
(3) retail composition model
(4) retail network model
61. What is penetrating pricing ?
(I)  Where the price is determined by the cost of providing the product
(2) The price is decided upon and then the product “reversed engineered” to deliver that
price
(3) Low price is set in the early stage of life cycle in order to build market share
(4) Where prices differ accordingly to different market sectors
62. The inspirational communication tactics involve the following :
(1) Project confidence and power (2) Be credible
(3)  Pitch your message to the listener (4) All the above
63. Combining sociability and solidarity, which one of following is not a basic type of
organizational culture :
(1) Networked culture (2) Fragmented culture
(3) Innovative culture (4) Mercenary culture
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64. is the difference between the prospective customer’s evaluation of all the benefits
and all the costs of an offering and the perceived alternatives.
(1) Perceived usefulness
(2) Failure avoidance rate
(3) Customer perceived delivered value
(4) Competitors market share rate
65. In designing the marketing channel, the marketer must understand the service output levels
desired by the target customers. Channels produce various service outputs. Which of the
following is not one of these outputs ?
(1) Product variety (2) Entertainment shopping experience
(3)  Spatial convenience (4) Waiting and delivery time
66. Match List-I (Organization design) with List-II (Type of organization) as proposed by
Mintzberg and select the correct answer by using the codes given below :
List-1 List-1I
(Organization design) (Type of organization)
(a) Simple structure (i)  Small business
(b) Machine bureaucracy (i) University
(c) Professional bureaucracy (iii) Multidivisional business
(d) Divisionalized structured (iv) Government office
Codes :
(@ (b) (o) (d)
1 ® v @ (i)
(2) @) @ (@) (i)
() Gv) (@) @ )
4 Gv) (@) @) @)
osas [T 2 Fapeca




64. Goqrford a6 Ffl el & o aon forelt Terener aen g foreshedl st weft @mmdl
& o 3T 7
(1) T s
(2) facherar afER
(3) Ul g% UM T T (Sferee) oo
(4) et IR feam
65. T e 1 FesEA TR 30 T HIheX 1 Afd SIS g1 Jifsd Ja1 Scre &Rl (qfdd
3MPYCE oiad ) i THHI A6l | = fafy= Sa1 SET &1 3cied &dd € | 39 Sl § fifha §
I HE T T2
(1) 3R THR (2) FARSH GeER! A9d
(3) Ttk gfaen (4) gdten aun gua (feefterdt) w03
66. TH=STat g aen g qei-1 (Hre fesmam) & Wy G-I (H71e & JohR) &1 gafed L qen
e fa T 2 | W IR F T
-1 TEi-11
(H3T festmam) (HTET T Y& )
(a) WM HTAT (i) < e
OIERIETSI] (i) foreafarmer
(c) TR JRTIE (il) FEIHFIE T
(d) 99T Efad (iv) WX HEed
%
@@ (b)) (9 (d)
@ @ (@) @) (i)
(2) @) @@ o (Gv) (i)
G) (v) (@) (@ (i)
(4) (v) () @) ()
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67. Assertion (A) : According to theory ‘X’, all employees dislike work and must be coerced,
controlled or threatened to make them work.
Reason (R) : Theory ‘X’ makes an assumption about the basic human nature which is
relevant to the employees also.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is not a correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false but (R) is true.
68. Which one of the following is not one of the conditions that contribute to the branding
decision ?
(1) The product is easy to identify by brand or trademark
(2)  Quality and standards are easy to maintain
(3) There are economies of scale
(4) Insufficient demand for the product in the market
69. ‘Domain relevant skills” constitute one of the basic components of individual and team
creativity. These skills refer to which of the following ?
(1) Special abilities needed to generate creative new ideas
(2) Basic knowledge needed to perform the task at hand
(3) People’s willingness to perform creative acts
(4) None of the above
70. Managerial Grid Leadership was developed by :
(1) Rensis Lekert (2) Tomas Care
Paul Hersey (4) Robert Blake and Jane Mouton
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67.

68.

69.

70.

HIT (A) : FIG X F TR ft FHAR FTH HIAT TIHS F © SR ST Y FEH & g A7
TR TS hi STHT =ET, 3= (afa fwan S =nfeu 9en 3= et < St =nfeu |

HIOT (R) : Fagid X & T 01=1a1 € St SRy 0Ha W96 & 9 | €, S o sw=nial & forg of
T 2 |

1) (A) 3R (R) A 92 § 3R (R), (A) 7 T =€ T
(2) (A) 3R (R) I T T, fhg (R), (A) FT T =men 7= 7
(3) (A) W& T g (R) T ¢

(4) (A) T g, fohg (R) W& @1

friferd § @ &1 T TH 3 & @ S st i | e e € 2

(1) SIS e TS % §RI ScIE i Tea™ il Hesl €|
(2)  TOTET AT TR I ST TG SEH T |

(3) AN I ST (FHITTHIS AT Tohed )

(4) TSR H SIS 1 ST HIT

‘& Fat wivel’ Al TS 2 Tty 1 T STHRY e &1 fHiv w3 71 efafed § 9
e 3 e S €2

) TR A farl % g % fore fasi dreaneti w1 sraveshdr et €
) FIY T HE Rl FTewfed HA % feTU STHRYd I P STevARdl Bl §
(3) TEcH sl i frouifed wE o ufd ArT T gest

) SudE H ¥ TR T

(1

(2

4

yaumE e Aq@ (TeiEa fie dteifm) foas gr faswfaa fohan w2
(1) Wfe| & (2) I HW
(G) uaTd (4) T AH TS AT WA
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71. Find a correct match from the List-I with List-II :

List-I List-II

(Name of Theme parks) (Name of the city)
(@) The magic kingdom (i) Klampenborg
(b) De Efteling (i) Goteborg
(c) Liseberg (iii) Orlando
(d) Bakken (iv) Kaatsheuvel
Codes

(@ (b) (o) (d)
O O @ @) @
@ () @) @) 0
@) ) (v O G
@) (W) ) @ 0

72.  One of the following statistical tool that is used to test the questions framed in Nominal scale
is:

(1) ‘t'-test (2) ANOVA test (3) Chi-square test (4) F-statistic

73. Match List-I with one World Heritage site with the List-II Year of declaration and identify
the correct code :

List-1 List-1I
(World Heritage) (Year of Declaration)
(a) Group of monuments at Mahabalipuram (i) 1984
(b) Group of monuments at Hampi (i) 1986
() Humayun’s Tomb, Delhi (ii) 1993
(d) Jantar Mantar (iv) 2010
Codes :
@@ () (o (d)
1) (v (@) @
@ ) @) @ @)
@) G @) @)
4) @G (@) @) (iv)
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71. G-I ! Gei-11 o Fq1e Gafad o

-1 -1

( oW uTRT o ATH) ( ITE HT W)
(a) 3 HfSe fohen ()  ATHIER
(b) T swAfem (i) e
(c) fTosan (iti)  sTfci~e!
(d) kA (iv) RIS
%<

@@ () (9 (d)
@ @ @) @) (Gv)
(2) @) (@) (@) ()
G) @) (@(v) @ (i)
(4) (D) (@v) @) ()

72. ifAd Ao (AT Thd) ® IR g9l T Sie & fau frefatea § 9 g gifersa sy o

Sqan foran ST g ?

(1) -udeo (2) AT gl (3) HRE-ThHIT TAHT (4) TH-HITEAHT

73.  GEl-1, S fova fovraa Turel @ gwaf-od 8, &1 Geil-11, S S a9 § g2 8, § gafad sifse
T |l ST 1 F2 IATd HINT

-1 qEi-11
(Tova fawea) ( 3THTIUT T 99 )
(a) WRIETYH feard T 1 B (i) 1984
(b) Tt feord THRHT 1 TR (i) 1986
(c) T 1 Hhaw, faeedt (iii) 1993
(d) ST AR (iv) 2010
<

(@ () (o (d)
) (v) ) G @)
) (@) Gv) @ @)
) () (D) @) ()
)

M ) ) ()
o [ {11

W
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74. On the basis of the statements given below find out the correct answer from codes :

Assertion (A) : The “cleanest village of Asia” is Mawlymong in Meghalaya, giving a message
to the rest of the country to emulate the concern and responsibility of the
villagers to maintain cleanliness and hygiene. The village has a must-see
destination rather than an attraction for tourists.

Reason (R) : The purpose of maintaining cleanliness of Mawlymong village is for the
promotion of community-based tourism.

Codes :
(1) Both (A) and (R) are correctly stated, but (R) is the incorrect explanation of (A).

(2) (A) and (R) are partially true to each other and (R) is the correct explanation
of (A).

(3)  (A) is correct, but (R) is wrong.

(4) (R) is correct, but (A) is wrong.

75. On the basis of the statements given below find out the correct answer from codes :

Assertion (A) : Local youths are lured toward drugs due to the availability of poppy and
other species in the Kullu Valley-known as Valley of White Husbands. The
easy availability of drugs has spoiled many youths and affected the tourism
in the valley to a great extent.

Reason (R) : Tourism is a bane rather than a boon for the youths in the valley.
Codes :

(1) Both (A) and (R) are true, but (R) is the correct explanation of (A).

(2) Both (A) and (R) are true.

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.
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74. 9 f@@ T Afvepedl & YR W A T %2 w1 FEE ¥ W ST H A F
HUT (A) : TR w1 EEsTd I (3 T el St TR TeerE 9 Aeteri @ s o
% I 9 H Ig WY S ¢ R A off wrR-weRE 8T T 9 @A 'g 39 A
TR TF STEIIE F SHO H | T8 TMa whed & fau ww emswdw 72 afig
‘7Y YA AIfeT (FER-TT) are WH B
T (R) : TETTEHIT Ta i Fh-TEE S T H1 37 G STHIRA Tde 1 g <1 8
< :
(1) (A) 3R (R) S &l € T (R), (A) T Terd =& ¢ |
2) (A) 3R (R) TF TH & Jfq 9@: A §, IR (R), (A) T T&l =08 7
(3) (A) W& T, T (R) T4 B |
)

(4)  (R) W& &, WY (A) e B
75. i e T AfRedl % STUR W %e i FEHal § e ST HT FAT HY

HUT (A) : Fooll =eI-T58 gEe Tode F1 =St ot HT a1 T-H Ud T SHHT T YSIIaa Iqersy
B % HROT T k! I TG qeieil % Ha 1 Jeiivd fean S €1 wees weref =i
AT % FRUT 3Tk o Felg ol T3 TN 3HY el § T i HThl THAM Tga1 7|

HIUT (R) : S | e gaehi & forq eifiremy § 71 & srem |
e :

1) (A) 3R (R) I 92§, fohg (A) FT W&l == (R) B
2) (A) 3R (R) A1 =&t 1

(3) (A) e ¥, fhg (R) Tord B |

(4) (A) T g, fohg (R) W R
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